

Page 1 of 1

### Florida Department of Transportation



Letting:

**Vendor Ranking** 

Call Order: 004

Contract: E21A2-R0

**District:** District 2

Counties: ALACHUA, BAKER,

Fed Aid No: N/A

**Contract Time:** 365 CALENDAR DAYS **Contract Desc:** PRESSURE GROUTING

02230118

January 18, 2023 1:00 PM

BRADFORD, CLAY, COLUMBIA, DIST/ST-WIDE, DIXIE, DUVAL,

**Project(s):** 41021827251 (\*)

GILCHRIST, HAMILTON, LAFAYETTE, LEVY, MADISON, NASSAU, PUTNAM, ST JOHNS, SUWANNEE, TAYLOR,

UNION

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	VORTEX SERVICES, LLC	Responsive	Winning bid	\$375,500.00	100.00%
2	FOUNDATION PROFESSIONALS OF FLORIDA, INC.	Responsive	Non-Winning Bid	\$415,000.00	110.52%
3	MAER HOMES, LLC	Responsive	Non-Winning Bid	\$437,000.00	116.38%
4	FOUNDATION SERVICES OF CENTRAL	Responsive	Non-Winning Bid	\$478,500.00	127.43%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



## Florida Department of Transportation



#### **Tabulation of Bids**

Page 1 of 3

**Letting:** 02230118 January 18, 2023 **Call Order:** 004 **Contract:** E21A2-R0

District: District 2 Counties: ALACHUA, BAKER, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

BRADFORD, CLAY,
Project(s): 41021827251 (\*)

Contract Descr: PRESSURE GROUTING

COLUMBIA, DIST/ST-WIDE, DIXIE, DUVAL,

Provide all labor, materials, equipment, and incidentals necessary to perform Subsurface Pressure Grouting program is to improve the subsurface Conditions by injecting cement grout to fill voids and densify the soils as noted in a CGIP to minimize the potential for future ground subsidence. The Shallow Subsurface Polyurethane Injection will be used at drainage structures, drainage tipes, box culverts, asphalt and concrete pavement areas, sidewalk areas and bridge approach slabs for the purpose of densification of subgrade, filling voids, sealing drainage structures and realignment of surfaces. EXPENDEDIATION & STABILIZATION USING SUBSURFACE PRESSURE GROUTING MOST BE COMPLETED AND SUBMITTED WITH THE BID. RENEWAL OPTION. BID EXPRESS MANDATORY

Line No / Item ID Alternate Quantity Item Description Units	(1) VORTEX SERVICE	PROFESSIO	(2) FOUNDATION PROFESSIONALS OF		(3) MAER HOMES, LLC	
( ) indicates item is bid as Lump Sum	Unit Price Ext A	FLORID Unit Price	A, INC. Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 (PRESSURE GROUTING (CF						
0005         0173 76         2,750.000           GROUT PIPE INSTALLATION         LF	17.00000	46,750.00 85.00000	233,750.00	18.00000	49,500.00	
0010 0173 77 1 250.000 SUBSURFACE PRESSURE GROUTING, CY SAND CEMENT	365.00000	91,250.00 200.00000	50,000.00	350.00000	87,500.00	
0015         0906173200         25,000.000           TWO COMPONENT POLYURETHANE         LB           INJECTION         LB	9.50000 2	37,500.00 5.25000	131,250.00	12.00000	300,000.00	
0001 PRESSURE GROUTING Section Totals: (CF)	\$3	75,500.00	\$415,000.00		\$437,000.00	

Contract Grand Totals:	\$375,500.00	\$415,000.00	437,000.00
------------------------	--------------	--------------	------------



# Florida Department of Transportation



## **Tabulation of Bids**

Page 2 of 3

Letting:	02230118	January 18, 20	23 <b>Cal</b>	l Order: 004		Contract:	E21A2-R0	
	Line No / Item ID Alternate Quantity tem Description Units		(4) FOUNDATION SERVICES OF CENTRAL					
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (PRESSURE GROUTING (CF								
0005 0173 GROUT PIPE	3 76 INSTALLATION	2,750.000 LF	34.00000	93,500.00				
	3 77 1 E PRESSURE GROUT NT	250.000 ING, CY	240.00000	60,000.00				
	6173200 DNENT POLYURETHAN	25,000.000 NE LB	13.00000	325,000.00				
0001 PRESSURE GROUTING Section Totals: \$478,500.00 (CF)						'		
	Contract G	rand Totals:		\$478,500.00				



## Florida Department of Transportation

01/26/2023

**Tabulation of Bids** 

Page 3 of 3

**Letting:** 02230118 January 18, 2023 **Call Order:** 004 **Contract:** E21A2-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.